
CONTROL
A86

CT
A37

TLT
A43

XRAY
A40

CT
A83

CORR
C06

CORR
CO5A

TLT
A23

TLT
A25

JAN
A26

XRAY
A24

STORAGE
A27

DRESS
A22

DRESSING
A19

EQUIP
A18

CONTROL
A17

SCAN
A15

XRAY
A21

XRAY
A20

DRESS
A17B

DRESS
A17A

TLT
A82

TLT
A17C

DRESS
A16

CORR
CO5

A25

A2
7A

A27B

C05

A2
4

CORR
C03

A01

A02

A01

A02

F04

F03

A1

C1

A1

A2

A1

C1

C1

A2

4'-0"

7'-
2"

D1

D1E1

E1

E1 E1

A2

E1

A03
A04

A01

A02

A05

A06

A07

A08

A08

A08

A08

A08

12
A-101

A07

A09

A09

A09

A-401
1

A10

A10

13
A-101

A11

A12A12

A12

A12

A12
A13

A13

A14

A14

A15

A14
A14

A14

A16
A17

2'-
6"

3'-5"

3'-0
" A-401

4

A-401
3

A-401
2

A18

EXISTING SMOKE-STOP PARTITION (TYP)

E1

E1

E1

E1

A11

A13

E1

E1
AROUND
COLUMN

A19

A20

A20

A21

A21
LIMITS OF PHASE 3 CONSTRUCTION

LIMITS OF PHASE 2 CONSTRUCTION

A22 A22

A22

A22

A22

FEI #164008

SCALE: 1/4" = 1'-0" 4' 2' 0 4'

ENLARGED FLOOR PLAN
N

1

FLOOR PLAN KEY NOTES

A01 NEW BASE CABINETS WITH NEW COUNTERTOP.

A02 NEW UPPER CABINETS.

A03 CUT SALVAGED CHAIR RAIL TO LENGTH AND RE-INSTALL.

A04 NEW CHAIR RAIL TO MATCH EXISTING.

A05 FULL-LENGTH BENCH PROVIDED AND INSTALLED BY CONTRACTOR.

A06 DESK BY OTHERS (N.I.C.)

A07 FOLDING SEAT FS-1.  PROVIDE 2x WOOD BLOCKING WITHIN WALL FOR ATTACHMENT.

A08 PATCH WALL WHERE ADJACENT WALL HAS BEEN REMOVED.  SURFACE SHALL BE FLUSH WITH
ADJACENT WALL SURFACES.

A09 AUTOMATIC DOOR OPERATOR - SEE ELECTRICAL.

A10 ROBE HOOK RH-1 MOUNTED AT 48" A.F.F. PROVIDED AND INSTALLED BY CONTRACTOR.

A11 RELOCATED PAPER TOWEL DISPENSER AND SOAP DISPENSER.

A12 PHASE 2 TEMPORARY PARTITION; COORDINATE WITH MECHANICAL AND ELECTRICAL WORK.

A13 PHASE 3 TEMPORARY PARTITION; COORDINATE WITH MECHANICAL AND ELECTRICAL WORK.

A14 SIGN TYPE A - SEE DETAIL 14/A-101.  COORDINATE ROOM NAME AND NUMBER WITH VA.

A15 RELOCATED EXISTING SIGN.

A16 GRAB BAR GB-3 PROVIDED AND INSTALLED BY CONTRACTOR; REMOVE GWB AS REQUIRED AND
PROVIDE 2x WOOD BLOCKING WITHIN WALL.  PATCH GWB TO BE FLUSH WITH ADJACENT WALL
SURFACE.

A17 MIRROR M-1 PROVIDED AND INSTALLED BY CONTRACTOR.

A18 REPLACE ACCESS FLOOR PANELS TO MATCH EXISTING AT REMOVED WALL.

A19 REPLACE ACCESS FLOOR PANELS TO MATCH EXISTING AT REMOVED HVAC UNIT.

A20 PROVIDE BLOCKING IN WALL FOR X-RAY EQUIPMENT BY OTHERS; SEE DETAIL 15/A-101.

A21 PROVIDE BLOCKING IN WALL FOR X-RAY EQUIPMENT BY OTHERS; SEE DETAIL 16/A-101.

A22 NEW CONCRETE SLAB - SEE DETAILS SHEET A-401.

BUILDING 5 KEYPLAN

FLOOR PLAN GENERAL NOTES

1. CONTRACTOR TO PROVIDE AND INSTALL  ROOM PLACARD FOR ALL X-RAY ROOMS WITH SHIELDING
INFORMATION TO MATCH EXISTING PLACARDS.

2. DO NOT DISTURB INTEGRITY OF EXISTING LEAD-LINED WALLS TO REMAIN (TYP).



4 7/8"

SCALE: 3/4" = 1'-0"

2'1'0 4'

WALL TYPES

5

FLOOR SLAB

5/8" GWB EACH SIDE

STRUCTURE

ACOUSTIC BATT INSULATION

EXISTING CEILING

4 7/8"

FLOOR SLAB

5/8" GWB EACH SIDE OF
3 5/8" METAL STUD FRAMING

STRUCTURE

ACOUSTIC BATT INSULATION AT A1 ONLY

EXISTING CEILING; NEW WALL ANGLES
AS REQUIRED

3 5/8" METAL STUD FRAMING -
ATTACH TO BOTTOM OF SUSPENDED
CEILING GRID

5 1/8"

FLOOR SLAB

5/8" GWB

STRUCTURE

ACOUSTIC BATT INSULATION

FINISHED CEILING AS SCHEDULED

2" WIDE VERTICAL LEAD STRIP - THICKNESS
TO MATCH LINING ON GWB AT EACH STUD

3 5/8" METAL STUD FRAMING

5 1/8"

FLOOR SLAB

3 5/8" METAL STUD FRAMING

5/8" LEAD-LINED GWB

5/8" GWB

2" WIDE VERTICAL LEAD STRIP - THICKNESS
TO MATCH LINING ON GWB AT EACH STUD

5/8" LEAD-LINED GWB

FLOOR SLAB

STRUCTURE

FINISHED CEILING AS SCHEDULED

2" WIDE VERTICAL LEAD STRIP - THICKNESS
TO MATCH LINING ON GWB AT EACH STUD

EXISTING WALL TO REMAIN

5/8" LEAD-LINED GWB

ELEV. = 7'-0" A.F.F.
T.O. WALL

E1

C1

D1

B1 A1

A2

SCALE: 1/4" = 1'-0" 4' 2' 0 4'

INTERIOR ELEVATION
1

M-1GB-1
GB-2

TTD-1

SD-1

4'-
0"

SCALE: 1/4" = 1'-0" 4' 2' 0 4'

INTERIOR ELEVATION
2

SCALE: 1/4" = 1'-0" 4' 2' 0 4'

INTERIOR ELEVATION
3

SCALE: 1/4" = 1'-0" 4' 2' 0 4'

INTERIOR ELEVATION
4

PTD-1

SD-1 (RELOCATED)
PTD-1 (RELOCATED)

SD-1
PTD-1

S-1

3'-0" 3'-0"3'-0" 3'-0"2'-8" 1'-4"

3'-
0"

3'-
0"

3'-
0"

2'-
6"

1'-
6"

2'-
6"

1'-
6"

2'-
6"

1'-
6"

SCALE: 1-1/2" = 1'-0" 8"4"0 16"

LIFT SUPPORT DETAIL
7

SCALE: 1-1/2" = 1'-0" 8"4"0 16"

LIFT SUPPORT DETAIL
9

SCALE: 1-1/2" = 1'-0" 8"4"0 16"

LIFT SUPPORT DETAIL
11

EXISTING CONCRETE
JOISTS AT 24" O.C.

3"
1'-

0"

5"
+/

-
3 3

/4"
6"

 M
IN

.

'P1001' UNISTRUT
RAIL; 2'-8" LONG

HEX NUT WITH STANDARD
WASHER AND LOCK WASHER

'P2942' POST BASE

'P9000' UNISTRUT TUBE

3/8" BOLTS WITH STANDARD
WASHER, LOCK WASHER
AND NUT (TYP)

3/8" CHANNEL NUT WITH
SPRING INSIDE RAIL

3/8" 'A307' THRU BOLT;
(2) BOLTS PER JOIST

3"x3" TAPERED
PLATE WASHER

ATTACH PENDANT SUPPORT TO
UNISTRUT RAIL.  ADD BRACES PER
DETAIL 11/A-401 WHERE REQUIRED.

ATTACH PENDANT SUPPORT TO
UNISTRUT RAIL.  ADD BRACES PER
DETAIL 11/A-401 WHERE REQUIRED.

'P1000T' UNISTRUT
RAIL; 2'-8" LONG

EXISTING CONCRETE SLAB WITH
FLAT UNDERSIDE WHERE

OCCURRING NEAR COLUMNS

SIMPSON 3/8" x 6" LONG 'TITEN-HD' SCREW
ANCHORS AT 12" O.C.; (3) PER RAIL

UNISTRUT RAIL PER DETAIL 9
OR 10; ANCHORED TO CONRETE

3/8" BOLTS, STANDARD WASHER,
LOCK WASHER AND CHANNEL
NUT WITH SPRING (TYP)

LIFT PENDANT BY OTHERS

UNISTRUT ANGLE FITTING TO
MATCH ANGLE OF BRACE

'P1000' UNISTRUT BRACE WHERE
REQUIRED FOR STIFFNESS

SIMPSON 3/8" x 6" LONG
'TITEN-HD' SCREW ANCHOR

4'-8" MAX. SPACING BETWEEN HANGERS 2'-0" MAX. CANTILEVER

EXISTING CONCRETE SLAB
WITH FLAT UNDERSIDE,
WHERE OCCURRING NEAR
COLUMNS

STANDARD WASHER, LOCK
WASHER AND HEX NUT, TYP.
EACH SIDE OF POST BASE
AND AT RAIL

3/8" CHANNEL NUT WITH
SPRING INSIDE RAIL (TYP)

CONT. P1000 UNISTRUT BRACE;
SPACE AT 4'-8" O.C. MAX.

P1026 UNISTRUT ANGLE
BOLTED TO BRACE AND RAIL

3/8" THREADED RODS (2 PER
HANGER) AT EACH RAIL

P9000 UNISTRUT TUBE
HANGER AT EACH RAIL

3/8" BOLT WITH STANDARD
WASHER, LOCK WASHER AND

NUT (TYP)

P1001 CONTINUOUS UNISTRUT RAIL AT 2'-2" O.C.
FLUSH WITH FINISH CEILING; SEE REFLECTED

CEILING PLANS FOR LOCATIONS.  PROVIDE CHANNEL
COVERS AFTER INSTALLATION OF EQUIPMENT

3"
 M

AX
.

P2924 UNISTRUT POST BASE
EACH END OF TUBE (TYP)

CONTINUOUS P1001 UNISTRUT
PERPENDICULAR TO RAIL

EXISTING CONCRETE JOISTS
AT 2'-0" O.C.

P 9000 UNISTRUT TUBE
HANGER BOLTED THRU JOIST

PER 7/A-401.  PROVIDE
HANGERS AT 4'-0" O.C. (EVERY

OTHER JOIST)

NOTE:  ADD BRACES SIMILAR TO
DETAIL 11/A-401 WHERE REQUIRED.

2" MAX. SAWCUT AS CLOSE
 AS POSSIBLE TO PARTITION

BASEPLATE AND ANCHORAGE OF "LUMINOS AGILE
TABLE" AND "WALL STAND" IN X-RAY ROOMS A24 AND
A40; BY OTHERS.  ANCHOR USING ALTERNATE HOLES

EXISTING PARTITION TO
REMAIN IN PLACE

EXISTING 4" SLAB-ON-GRADE

MC8x18.7 CHANNEL AT SLAB EDGE;
CENTER CHANNEL AT EQUIPMENT
BASEPLATE.  AT  "LUMINOS AGILE

TABLE", USE 6'-6" LONG.  AT "WALL
STAND", USE 3'-6" LONG.  PROVIDE (2)

COATS OF ZINC-RICH PRIMER.

#4 x 3'-0" LONG A706 WELDABLE
REBAR FULLY SHOP-WELDED ALL
AROUND TO CHANNEL AT 12" O.C. TOP
AND BOTTOM

NEW 8" THICK SLAB-ON-GRADE - SEE
DETAIL 8/A-401 FOR BALANCE OF
INFORMATION

1'-0" EMBED

EDGE OF NEW SLAB - SEE REMOVAL PLAN

2"

2"
2"

NEW 8" THICK SLAB-ON-GRADE
RE-COMPACT SUBGRADE WHERE

DISTURBED BY CONSTRUCTION
ACTIVITIES

EXISTING 4" SLAB-ON-GRADE

#3 DOWELS x 3'-0" LONG AT  24" O.C.
EMBEDDED INTO EXISTING SLAB WITH
ADHESIVE

SEE DETAIL 6/A-401 FOR SLAB EDGE
AT "LUMINOS AGILE TABLE" AND
"WALL STAND" BASEPLATES IN
X-RAY ROOMS A24 AND A40

SCALE: 1-1/2" = 1'-0" 8"4"0 16"

TYP NEW SLAB EDGE DETAIL
8

SCALE: 1-1/2" = 1'-0" 8"4"0 16"

CHANNEL AT SLAB EDGE IN X-RAY
6

SCALE: 1-1/2" = 1'-0" 8"4"0 16"

UNISTRUT RAILS AT CEILING IN X-RAY ROOMS
10

#4'S AT 6" O.C. CONTINUOUS
EACH WAY CENTERED IN NEW
SLAB

CONTINUOUS P1000T
UNISTRUT AT FLAT SLAB.  BOLT
TO CONCRETE WITH 3/8" DIA. x
6" LONG SIMPSON 'TITEN HD'
SCREW ANCHORS AT 24" O.C.

FEI #164008

AT ACOUSTICAL CEILING
CPT CARPET MODULE TILE
CT CERAMIC TILE
EC EPOXY COATING
E EXISTING
FT FLOOR TILE, MOSAIC
GWB GYPSUM WALLBOARD

P PAINT
PT PORCELAIN TILE
QT QUARRY TILE
RB RUBBER BASE
ST STAIN
RSF RESILIENT SHEET FLOORING
WD WOOD
VCT VINYL COMPOSITION TILE

ROOM FINISH SCHEDULE LEGEND
NOTE: REFER TO SCHEDULE OF FINISHES FOR ALL INTERIOR FINISHES

ROOM FINISH SCHEDULE NOTES
1. FIELD VERIFY AND MATCH EXISTING CEILING

HEIGHT.

2. PATCH EXISTING QUARRY TILE FLOOR AND BASE
TO MATCH EXISTING AT NEW DOOR LOCATIONS.

3. PROTECT EXISTING VINYL WALLCOVERING TO
REMAIN AT NEW DOOR LOCATIONS.

4. PROVIDE RESILIENT BASE AT NEW WALL.

5. PATCH EXISTING PORCELAIN TILE FLOOR AND
RESILIENT BASE TO MATCH EXISTING AT INFILLED
DOOR LOCATION.

6. PAINT NEW GYPSUM BOARD AT INFILLED DOOR
LOCATION TO MATCH ADJACENT WALL.

7. PATCH EXISTING RESILIENT SHEET VINYL FLOOR
AND RESILIENT BASE TO MATCH EXISTING AT
INFILLED DOOR LOCATIONS.

8. NO WORK.

9. PROVIDE CERAMIC TILE WAINSCOT TO 48" AFF.

10. PAINT PATCHED  WALLS TO MATCH ADJACENT
EXISTING.

C08 CORRIDOR E-QT E-QT -- -- E E -- -- E E E-AT -- NOTE 1 2, 3
108 ADJUDICATION DIVISION E-CPT RB-1 E E GWB P-1 E E -- -- E-AT -- NOTE 1 4
109 RECEPTION CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --
109A OFFICE CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --
109B OFFICE CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --
109C OFFICE CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --
110 WAITING CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --
110A RECEPTION CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --
110B OFFICE CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --
110C OFFICE CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --
110D JOB LAB CPT-1 RB-1 GWB P-1 GWB P-1 GWB P-1 GWB P-1 E-AT -- NOTE 1 --

C03 CORRIDOR E-PT E-RB -- -- GWB EC-1 -- -- -- -- E-AT -- NOTE 1 5, 6
C05 CORRIDOR E-RSF E-RB GWB EC-1 GWB EC-1 GWB EC-1 GWB EC-1 E-AT -- NOTE 1 --
C05A CORRIDOR E-RSF E-RB GWB EC-1 GWB EC-1 GWB EC-1 GWB EC-1 E-AT -- NOTE 1 7
C06 CORRIDOR E-RSF E-RB -- -- GWB EC-1 -- -- GWB EC-1 E-AT -- NOTE 1 7
A19 DRESSING E-VTC E-RB GWB EC-1 GWB EC-1 GWB EC-1 GWB EC-1 E-AT -- NOTE 1 --
A20 XRAY -- -- -- -- -- -- -- -- -- -- -- -- -- 8
A21 XRAY -- -- -- -- -- -- -- -- -- -- -- -- -- 8
A22 DRESSING -- -- -- -- -- -- -- -- -- -- -- -- -- 8
A23 TOILET -- -- -- -- -- -- -- -- -- -- -- -- -- 8
A24 XRAY RSF-1 RB-1 GWB EC-1 GWB EC-1 GWB EC-1 GWB EC-1 AT-1 -- NOTE 1 --
A25 TOILET FT-1 CT-1 GWB CT-1/EC-1 GWB CT-1/EC-1 GWB CT-1/EC-1 GWB CT-1/EC-1 AT-1 -- NOTE 1 9
A26 JANITOR -- -- -- -- -- -- -- -- -- -- -- -- -- 8
A27 STORAGE RSF-1 RB-1 GWB EC-1 GWB EC-1 GWB EC-1 GWB EC-1 AT-1 -- NOTE 1 --
A37 CT RSF-1 RB-1 GWB EC-1 GWB EC-1 GWB EC-1 GWB EC-1 AT-1 -- NOTE 1 --
A40 XRAY RSF-1 RB-1 GWB EC-1 GWB EC-1 GWB EC-1 GWB EC-1 AT-1 -- NOTE 1 --
A43 TOILET -- -- -- -- -- -- -- -- -- -- -- -- -- 8
A86 CONTROL -- -- GWB -- GWB -- GWB -- GWB EC-1 AT-1 -- NOTE 1 10

NOTES

ROOM FINISH SCHEDULE
NO.  DESCRIPTION FLOOR BASE

NORTH WALL EAST WALL SOUTH WALL WEST WALL CEILING
MAT. FIN. MAT. FIN. HEIGHTMAT. FIN. MAT. FIN. MAT. FIN.

NOTE: ALL OTHER ROOMS SHOWN ON FLOOR PLAN BUT NOT LISTED ON THIS SCHEDULE ARE EXISTING TO REMAIN.


